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fdw: () 39 v w3 # 5ot 30 ywA ¥ | W yem g #

(ii) T ¥¥ET | W 8 D YA U | 3d BT | T WA 9 W 18 T TE q 2
BT BT &, T 6T 19 | 27 U6 Wb W97 3 35T BT & qo7 997 TET 28 2 30
% YoI® T99 5 3P a7 2|

(iii)Wﬁﬁwweﬁéﬁmﬂﬁ%ﬁmﬁzmmﬁwmﬁ,amﬁmw
wﬁaﬁ?imﬁmﬁﬁﬂﬂ?mﬁ?ﬁmmmﬁmw%rﬁwﬁf
vl R T =wm # W Bad @ uwT & deAr 2

(iv) W 9% W ARA BIT 3R o 0 SR ST | O WS T e 8 99 9% w6y
T T BT |

 (v) DB B SUIRT B FAR T8 2

(vi) el 3avges & sy ffeie ifie Praiet & 991 @1 9w oy e
c=3%10°ms' ; h=66x%10*]Js ; e=1.6=10"C : K, =4m x 107 TmA
AIeEor i K=1.381 x 102 K ;  snavey wer N, =6.02 x 10 mol-!
4;0 =9 x 10° N m?C? ; Wﬁ'ﬁaﬁﬁﬁﬁfmfl‘ﬁxm"ﬂkg ; m =9.1 x107kg

Note: (i) There are in all 30 questions in this question paper. All questions are compulsory.
(if) Question No. 1 to 8 carry one mark each, question no. 9 to 18 carry two marks each, question
no. 19 to 27 carry three marks each and question no. 28 to 30 carry five marks each.
(iii) There is no overall choice. However, an internal choice has been provided in one question of

two marks, one question of three marks and all three questions of five marks each. You have
to attempt only one of the given choices in such questions.

(iv) Start from the first question and proceed to the last. Do not waste
can not solve it.

(v) Use of caleulator is not permitted.

(vi) You may use the following values of physical constants wherever necessary :
c=3x10ms’ ; h=6.6x10M]s ; e=16x107C y W, =4mx 107 TmA-"!
Boltzmann’s constt. K=1.381 x 108 JK-' Avogadro Number N, =6.02 x 10% mol-!

1

pr =9 x 10° N m?’C? : Mass of Neutron m. =1.67% 10 ks - m, =91 % 107 kg

time over a question if you
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10.

aﬁmﬁﬁmﬂmﬁaaﬁﬁﬁiﬁ%ﬂﬂﬁqﬁmmﬂaﬁfﬁ@rﬁzbﬁmﬁmﬁﬁmm
g BT 7 1

If the distance between the plates of a charged capacitor is decreased, how would be the potential
difference between the plates affected ?

mﬁﬁmwm%gmﬁwaﬁﬁmm%ﬁwmmﬁwwﬁaﬁ?ﬁm
g7 1

When a charged particle enters in a magnetic field, what change takes place in its kinetic energy ?

dwr R e ? 1

What is Lenz’s law 7

%Wﬂﬁﬁ%ﬁéﬂﬁﬂﬁﬁﬁﬁﬂgﬁﬁﬁ@ﬁ%wﬁwﬁ%ﬁﬁw
&l | 1
Name any two properties of electromagnetic waves which are common to all parts of electromagnetic
spectrum.

yeTer 7 aETeRd TR W @ ago & Fd1 NG ger § 7 1
What is the effect of change of medium on the wavelength of light ?

100 SereT dree RIS Sull aTel gerdg B SHTel avreey e el ? 1
What would be the de-Broglie wavelength of an electron possessing 100 eV kinetic energy ?

Wm%nw#ﬂiﬁ&ﬂaﬁﬁﬁwmaisﬁ%lﬁ?ﬁﬂwaﬁ%ﬁmﬁaﬂ:ﬁ
BT ? 1
The radius of first Bohr orbit of hydrogen atom is 0.53 A . What would be the radius of second orbit ?

NAND 718 &7 ST @ OR 7€ I H¥ &g Wi fos a7 | 1

Using NAND gates, make a gate combination diagram to obtain OR gate.

cive @ B wRE @1 Q weitd e R W ¥ o <R el B Sed Go
T | 2

Q coulomb charge is given to a capacitor of C Farad, Derive the formula of energy stored in it.

wﬁﬁmzﬁwﬁﬂﬁﬁﬁw%@m&mmﬁwm:%@ﬂ/aﬁq
worr 12 diee &1 e BT A g favg 1 amaw @ g S B | 2

The intensity of electric field and potential at a point due to a point charge are 24 N/C and 12 Volt
respectively. Find the magnitude of the charge and distance of the point from the charge.

429 (IAY) [2]
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12.

13.

14,

15

16.

17.

18.

et S @7 PBrey fAWeraR, 0.5 A 9RT oF 99 1.8 dice O 0.8 A SINT o1 TR 1.5 dicc &l
WA 2| 92 o1 fATa TEd 99 71 ARG Wk §id By | 2

When (.5 A current is drawn from a battery, its terminal voltage becomes 1.8 volt and, when current
of 0.8 A is drawn, its terminal voltage becomes 1.5 volt. Calculate the e.m.f. and internal resistance
of the battery.

e RIS JHR HISel S Sva TR S~ 8N drel JRbId &3 B [ e~ S| 2

Derive an expression for the magnetic field produced at the centre of a current carrying circular coil.

TS TRAGER B wieihe qur Bdae Grsell @ Rl o sun 1:15 2 | 9f arifie gree
¥ Freedr T 9T HHY 12 diec 797 30 YRYER B O fBiee |rsdr # aieedr aur gRT
a1 8 ? 2

The ratio of turns in the primary and secondary coil of a transformer is 1:15. If the voltage and
current in the primary coil are 12 volt and 30 ampere respectively, then what will be the voltage and
current in secondary coil ?

yearead] gRT @ R 7 G 99 A qo " & drd qe wiitd i | 2

Establish a relation between peak value and root mean square (rms) value of alternating current.

FreferRag v S, dea gEEE avisd @ 59 a9 uedr 8- 2

In which regions of the electromagnetic spectrum, the following wavelengths fall—

@) 120004  (ii) 6563 A (iii) 820 A V)1 A

3eTdT (OR)

R AR 5 Frate ¥, Rrell fivg o=, el g, g g v & R E/H o) &1
=HE 3 B 2|

Show that for an electromagnetic wave in vacuum, at any point, at any time, the unit of E/H ratio is ‘ochm’,

HTTe BT I T SN & ? 98 uaaHie ¥ fh uer et g 7 2

What is the meaning of critical angle ? How it is related with refractive index ?

Yfearrdt uarl @ wfhaar 3 97 9 § ? SHET SI Aes fRed | 98 5 el W R sl
g7 , 2
What is meant by ‘activity’ of a radioactive material ? Write its SI unit. On what factors it
depend ?

frefifag ¥ 9 fow amafr = =W ¥t @ verer sfia e ek e W = Bro
wfed a=d | 2

Among the following, which frequency would be suitable for Sky wave propagation and which not.
Explain with reason. -
(i) 10 KHz (i) 20 MHz

429 (IAY) [3] [P.T.0.



15.

20.

21

22.

Rerderfoe ¥ e & 9 &1 Seorm PINH | TS SUANT BN (B! AR uae e
Wiel & BRU, SHS ge} aer Iy e [gei w dga a3 @ faar s SR 3

State Gauss’s law of electrostatics. Using this, obtain the intensity of electric field due to a thin
charged spherical shell at its outside and inside points.

AT (OR)

foret dgger fRsge @1 Oega & W, & @) fown 1 e @I I8 gAM H 50 R aE @ ol 4
e BIfeTd |

Derive the formula for the workdone in rotating an electric dipole in an electric field through an
angle 8 from the direction of the field.

Were yemadt awr gRue & ford, s wiford— 14141 =3

For the adjoining alternating current circuit, find—

@) uRuer wferamen MR 150
gt WMWY

Circuit impedance

(@) YR & (@R 941
Peak value of current
(M gR—deedl HaArr @

' Current-voltage phase difference

¥ =10 Sin 100 t

fe gftegy & &R U aft @ 941 off & ford x5 15 Hew, 7l o gftesn
® BN 9HD! gl &t & fordl Free famg 0.50 #iex 81 72 € | S19 MR &g yyad ofal
o wfeerat g ST | 3

Being myopic, the far point for the left eye of a person has shifted to 1.5 meter while being hyperopic,
the near point for his right eye has shifted to 0.50 meter. Find the powers of the lenses used for the
corrections.

HellaR TAT YUY H 9T G B ? Sl den U 9l § us o el G 09 sumr

i-'g: o1 &1 99 frg TR G qor BT afieRer B aaar gaEd o 9 S saR
()nPT B AT (i) 2n T BT 3

What is the relation between phase difference and path difference ? The path difference at a point on

o - e : -
the screen from two coherent source is —-. Describe the possibilities of constructive and destructive

interference at that point if the phase difference between the sources is either (1) n- or (i) 2=.

429 (IAY) [ 4]



23.

24,

25.

26.

28

28.

¥ wreve @ due w o 3mnmﬁ1an4mnma@ﬁs&a%wmmﬁmﬁ%a’rﬁﬁaﬁ
g e 135%@052%%3‘@%:%%— 1%+ =3
(B) < ReriE &1 7 (@) PAIE & Rl F7 PRive

When light of 300 nm and 400 nm wavelengths are allowed to fal] on the cathode surface of a
photocell, the stopping potentials are obtained as 1.85 volt and 0.82 volt respectively, Caleulate—

(a) Value of Planck’s constant (b) Workfunction of cathode surface
m@wmﬁHﬁaﬁHﬁﬂ?ﬁwﬁﬁmmm#wﬁhaﬁme
mﬁ%&zﬁmﬁﬁf&ﬁm%}zﬁﬂ.lxwﬁww 3

Show the H_ and H, transitions of hydrogen atom in an energy level diagram and find their
wavelengths. Given R, =11x10"m,

mwm(wm}wm%?mmmmmmﬁwwma
mwaﬁﬁﬁmﬂmwm%? 3

What is a photodiode ? Why is it kept in reverse bias for operation, while the current available in
forward bias happens to be more T

What is amplitude modulation 9 Show a modulated wave graphically. The maximum and minimum
amplitude of a modulated wave are 15 Vand3V respectively. Find the modulation index.

ﬁﬂﬂh%ﬁmﬁﬁaﬁ:ﬁmuﬁwzﬁmmﬁmaﬂﬂmwaﬁﬁm 5

Write down the Kirchhoff’s laws, In the adjoining circuit, find the current in each resistor,

40 2Q

SI¥AT (OR)

429 (1AY) [5] [P.T.O.
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30.

foreeis @ Framl @ ar] ax Eewd ¥g @ Frge B aften Sd Siford qer #iex ¥y
¥ 0 arsa WY @1 § B @ AR a1 avie S |

Applying the Kirchhoff’s laws, obtain the condition for the balance of Wheatstone bridge and describe
the method of determining the unknown resistance with the help of Meter bridge.

Ueh ool el Tedrriey @ TE qur erfafr o) fm wftd S |

Explain the construction and working of a Moving Coil Galvanometer with diagram.

uh

J7TAT (OR)

U e B Wiex § 5w yer uRafda o o woa & ? Amifea e difd aur e
iRy @7, Femniiey &) Bl @ TR 9T U B uel § 2ee urd Siferd | afg fedees
& FUSH BT AR 60 3 & T 79 3 Welt o w1 Te TR Wiew # HaRG HEE O
st SR 5 wuaRe ey @ gfode @ 8o 7

How can a galvanometer be converted into an ammeter 7 Draw labelled diagram and establish an
expression for shunt resistance in terms of the resistance of the coil of galvanometer and current. If
resistance of the coil of galvanometer is 60 € and it has to be converted into an ammeter using a
shunt of resistance 3 m(, then calculate the resistance of the converted ammeter.

A 3 BT R Oee g e o ad @l Ay &1 vl SR e R @
o &1 g B | 5

Describe the method of obtaining plane polarised light by the method of reflection and deduce the
Brewster’s law.

31T (OR)

v wgEe edt F sfigzas aon At @ 9 @ g0 12 9 8| aFews B wiew @
0.6 S T AT @ Brew g 5 Wl €| ofX v yfifde, S & Al oR 25 W W g
YT BT 1 S Biford — 2%+2V =5
(@) g B IR R (@) e B STl

The distance between the objective and the eyepiece in a compound microscope is 12 cm. Focal
length of objective is 0.6 cm and focal length of eyepiece is 5 cm. If clear image is to be obtained at
25 cm to the left of the eyepiece find out —

(a) the initial position of the object (b) the magnifying power of the microscope

TR

429 (IAY) [6]
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PHYSICS (Theory)
g : 3 U | [ guifes : 70
Time : 3 hours | [ Max. Marks : 70
e : () 59 ue7 o3 & @t 30 v | W uee e €
(i) U&7 AT 1 A 8 TF TS UIF 1 3@ @7 ¥ | 9 6w 9 9 18 9% Tl uv 2
3Pl BT 8, UYT HEAT 19 ¥ 27 T Wl WS 3 Sfd @ & T 99 HeemT 28 F 30
P TlE U 5 Dl &7 &)
(iii) T 9 H WY R B Abeq 761 8, 7t 2 siwi aer v ued 8 3 o 9
TeT 7 SR 5 sfl arel 141 WAl H SR =TI wEE A war € 0 wet &
Hu! &8 T Taq H 9 Pac U 9 & AT 2
(iv) YA WS ¥ URH BIRIY 3R 37 9% $ed WIST | W 999 71 aaT 8 99 U 66y
T B |
(v) Pereiey & SUFNT DI afe =8 €|
(vi) 8l eawgd & Sy frfoRen ifte Fadiel @ a9 @1 sugn B T ¥
c=3x10ms'; h=66x10"Js; e=16%10"C ; M, =41 x 107 TmA-!
diegur e K=1.381 x 109 JK- ;  SMEFTTEY [T N, = 6,02 % 10 mol”

1 o :
dne, ~ 29X 1NmC?; LT @1 Held m =1.67 x 107 kg ; m_=9.1 x 109 kg
0

Note: (i) There are in all 30 questions in this question paper. All questions are compulsory.
(i) Question No. 1 to 8 carry one mark each, question no. 9 to 18 carry two marks each, question
no. 19 to 27 carry three marks each and question no. 28 to 30 carry five marks each,

(iif) There is no overall choice. However, an internal choice has been provided in one question of
two marks, one question of three marks and all three questions of five marks each. You have
to attempt only one of the given choices in such questions.

(iv) Start from the first question and proceed to the last. Do not waste time overa question if you
can not solve it.

(v) Use of caleulator is not permitted.
(vi) You may use the following values of physical constants wherever necessary :

c=3x10ms'; h=66%x10%Js; e=16x10"C : My =4m % 107 TmA"!

Boltzmann’s constt. K =1.381 x 10-* JK~' ; Avogadro Number N 2= 6.02 x 10% mol”’
1

4meg

=9x 10 Nm’C? ; Massof Neutron m = 1.67 x 10¥ kg ; m =9.1 x 10 kg
L E] [PT.O.
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10.

11.

12.

. B% a7 S B SIS A 1.5, 2.0 T 133 §1 o 9 fd werw @) A wed
e =2rft el =i ? 1

The refractive indices of glass, diamond and water are 1.5, 2.0 and 1.33 respectively. In which of
these will the speed of light be maximum and why ?

SaETR # ol @1 a5 aeE | F9 fE o wear § ? 1

How the loss of power in a transformer can be reduced ?

U TeHT B 5 % 10 e /deiE @ P & 3 Rum ¥ | 9 W O 9 e @ o S| 1
An alpha particle is situated in an electric field of 5 x 10* Newton/coulomb. Calculate the force
exerted on 1.

10-14 Srew qerded @ AT R, 10 Aew axrded B gRdT AR Tem 6800 A wRed &
ey @ oy e o Hifts af¥ wHE g 7 1
What physical quantity is the same for Gamma rays of wavelength 10-'* meter, Ultraviolet rays of
wavelength 10-* meter and Red light of wavelength 6800 A.

AND 2 @1 diffors Udis S5d aUT SHal Wogdl |Rvl gerd | 1
Draw the logic symbol of AND gate and give its truth table.
TG qT SEgrEey Tarit @ grE@E HgiT o a9 B 31 g g9 2 1

What will be the effect of temperature on magnetic susceptibility of paramagnetic and ferromagnetic
materials ?

EESE Wagd @ 99 Sl @ A R e oo Yerd 5w a9 H o € 1

Name the series in hydrogen spectrum whose few lines lie in the visible region.

TH geiEst G U W @1 e st gue 2 | e @ @ S arvell a¥irded =geE | 7

An electron and a proton have the same kinetic energy. Find which particle has minimum de Broglie
wavelength.

T 3 R @ @ aer 0.5 PeiieR’ ot dEre @ AR & Uitk 2.5 Q8| 9 % gerd @
fftre shey S0 SR | o 39 OR 9 oEE SEER T e o oY 1 fafire ik feeae
&1 7 2
The resistance of a wire of length 3 meter and area of cross section 0.5 mm® is 2.5 Q. Calculate the

specific resistance of the material of the wire. If length of this wire is increased and is made twice of
its original length, what will be the specific resistance ?

Te TR URTETE] GUEA! & dw UN 9o~ g &9 ® forg @i e Hife | 2

Obtain an expression for the magnetic field produced at the centre of a current carrying circular coil.

e dega fRyg, WA der & F & @ e @ 0 S aenn € | g9 Y@ifed R g quigd qun
T 9% ST HRA qlel gei—ITEY B oy @iee W Hiford | 2

Draw a labelled diagram showing an electric dipole making an angle 8 with a uniform electric field
and derive an expression for the torque experienced by the dipole.

S TR WERY T 7 We 7 ey | 98 5 gl ove & oY B @ © ? 2

What is Sky wave propagation ? Write in brief. In which frequency range does it work ?

429 (IAZ) (2]



14.

16.

1'%

18.

19.

T& 50 Q &1 URRES TF 220 V - 50 Hz §ws § 9T § | S Biford — 1+1 =2

() URuer § 9% FT rm.s. A (@) T @ =5 H =g g i
A 50 Q resistor is connected toa 220V - 50 Hz supply. Find out -
(a) r.m.s. value of current in the circuit (b) net power consumed for a complete cycle

T Fegradt anr gRuy ¥ gRRe R, W L aer wuiRy C i § O €1 39 uRuy @
yftraren & forg w7 fofiay | T Sifu & srgre @ Ruft 4 g wf 98 Sl 8 | sy sy
% forg =ive wwt i | 2

In an alternating current circuit, resistance R, inductance L and capacitance C are connected in
series. Write the formula for the impedance of the circuit. Write clearly why current increases in case
of resonance. Obtain expression for resonance frequency.

312q4T (OR)
R=10Qaar L =800 mH % il TAISH #1 U Y@l aleew E =200 sin 300 t & Wi a7 & |
T T — 1+1 =2
(@) aRu P e (@) urg @7 e A7

A series combinationof R=10Q and L=800mH  isconnected to an alternating voliage
E =200 sin 300 t. Calculate —

{(a) impedance of the circuit (b) peak current in the circuit
e g we ok ewal Bew & 9 e faied | &1 et 6 B @ e
1:2 | S8 SO WEHT! BT SATT ST S | 2

Write the relation between the mass number and radius of a nucleus. The ratio of radii of two nuclei
is 1 : 2. Find the ratio of their mass numbers.

favel a1 deprgrady o o1 A el qur § 9 uRe aNT @ Ue SugnT faf | 2

Write the name of any two electromagnetic waves and give one use of each of these waves.

U TR Wie WiRE, el wiel & €9 9 € @ eiar 12 pF & | SenRT @ aiRer war
aft et @ g omht % & S a1 Se 4 B W U garl 9 R R 9n R widgdis
6 €l 2
A parallel plate capacitor, with air between the plates, has a capacitance of 12 pF. What will be the

capacitance of capacitor if distance between the plates is reduced by half and the space between
them is filled with a material of dielectric constant 6.

X @ F1g9 @1 Soorg B | Rig iy & gaur o7 ur grrafifa e smakia fewoh ow
A B 8 | 2

Write Brewster’s law. Prove that at polarising angle, reflected and refracted rays are perpendicular to
each other.

ETESIOT UNAIY] & o WK B ol ~13.6 eV 8| W9 geianie e wen & e e § wen &
1 STt B¢ WIS B el 9 DI 91 9 B @ avresd ff s R 3
The energy of the lowest level of the hydrogen atom is —13.6 eV. Calculate the energy of the photon

emitted when an electron falls from the third orbit to the second orbit and also find out the wavelength
of this photon.

429 (1A2) [3] [PT.0.
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21

22.

23,

24,

ﬁgﬁmaﬁmmww%ﬁ%?mﬁ@qﬁﬁnmvr%‘ﬁmww%ﬁm
I B R geffa @i | 3

Why modulation is needed ? Show the message signal, carrier and modulated waves diagramatically
for amplitude modulation.

mmﬁmwmﬁqﬁwﬁaﬁmﬁwmmmﬁmwmﬁﬁm
NP HIST IO | v QY Aeg G 1 aaeiRes Sereswr AR Wit o ke @ Rrgr
¥ eiRa B 3
What do you understand by mutual induction, explain with the help of a circuit diagram ? Find out
expression for the coefficient of mutual induction. Give a practical example of an electric device
which is based on the principle of mutual induction.

PTII I S ¥ el IR T BRGET & @ A 2 ? for &, Wik % yamer dem
W%Wﬁﬁﬁmﬁmmﬂﬁmwaﬁmﬁmavﬁaﬁmﬁmwmw
81 AifeTs & forg Sueh amgfy oon wrivem =19 SRR | 3
What is meant by Threshold frequency and Work function in photo electric emission ? In the figure
a graph has been plotted showing change in cut off potential with the change in the frequency of the
incident radiation for the photoelectric emission in Sodium. Find out Threshald frequency and Work
function for Sodium.

din

[ % ] T

el g —
Cut-off voltage —»

i i L i ' i e
T L T L I T Ll -

CTHTE Y 5 6 1 8 % 40
GRT/ Frequency (Hz) = 10
W i aeRT g, =—2 G, q,=-4pCTI g, =+1uC TP e Y1 5 arg 4 ferg & q, 79T q, &
<l @1 o 2 R T g, ol qj$#ma?rqﬁ4%%|ﬁmfﬁrﬁgﬁﬁ&rﬁamﬁmaﬁm 3
Three point charges q, =~ 2 pC, q,=—4uCand q,=+1 uC are placed in airina straight line. The
distance between q, and g, is 2 cm and that between q, and q, is 4 cm. Calculate the electric potential
energy of the system.

34T (OR)
mﬂgﬁf&@ﬂﬂ%a&ﬁumwﬁmﬁﬁﬁﬁwﬁgﬁﬁmﬁaﬁﬁqwmaﬁml

Obtain an expression for the electric potential at a point on the axis of a dipole.

p-n%%%h%ﬂ%ﬁﬁﬂ%%lﬂ%ﬂﬁ&%ﬁ%
fery sif¥emerfres am ( Rve oo awr & m ) R 3

Draw a circuit diagram for p-n junction diode only in forward bias. Draw characteristic curve
( between voltage and current ) for both forward bias and reverse bias.

R 3 et 7 S 2 7 et Rret e e ¥ Rt o < o e @ <t @
T B 95 D= fada dvs @ areR aur dEa o B9 vl w2 3
What is diffraction of light ? In a single slit diffraction experiment, the width of the slit is made double
the original width. How does this affect the size and intensity of the central diffraction band ?

429 (1AZ) [ 4]
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27

28,

Sl ¥ St s e W A ? ot 4T S B U oR s, PR qor g
% fie AR | 3

How energy bands are formed in solids 7 Distinguish between metals, insulators and semiconductors
on the basis of energy bands diagram.

femit Terel & e, S T Al ¥ & foy arvEdHe wAe 1,52, 1.62 aur 1.59 § | ueef &
qU—{AEY e T i | Y A fRaes @ 40° € O 3 e @ e & ura sl
fagrgor e B ? 3
The refractive indices of a material for red, violet and yellow colours are 1.52, 1.62 and 1.59

respectively. Calculate the dispersive power of the material. If the mean angle of deviation is 40°
then what will be the angular dispersion produced by the prism of this material.

g1 o, WY TR PQ T RS UF geiy & WK fafd § 20 ¥f o g w v & | (R 2R)
574 U 4 TRYEY T 14 TR & 9T Ue 8 e H 98 8 8 | 9R PQ O RS @ e my
4 fag MR 21 s aford — 1x5=5
Two long, straight wires PQ and RS are kept parallel to each other in vacuum at a distance of 20 cm.
(see figure), They carry currents of 4 A and 14 A respectively in the same directions. A point M lies
exactly midway between PQ and RS. Find out —

(®) TR PQS BRY fag MW graag &= #1719 7 fur

The value and direction of the magnetic field at point M

due to wire PQ i .
(@) TRRS® TRV farg MW grad &3 7 A9 a fRam  —4 4 i i, =14 A
20 em

The value and direction of the magnetic field at point M
due to wire RS

(M g MW IRU ey e @7 79 aur e
The value and direction of net (resultant) magnetic field at point M

(9) ©R PQ® PRV, 9 RS & UHid oIS UX ARG 961 &1 71
Force acting per unit length of wire RS due to the wire PQ

(§) TR RSS SRY, X PQ & Udie orE X IRINT g6 &1 779
Force acting per unit length of wire PQ due to the wire RS

31T (OR)

% e o Wiex H 5w yar aRkafila 5 o1 o & ? 9mifea e dift o vie
HfRTer @1, AedAmieR o Goeel ® YRR a1 9% @ el § 2o ura S | ol e
@1 B! BT TR 60 3F & 721 39 3 Mol o @1 vie smaw Wiy § wuraRa we &
Sa Hifvry o waraia UHiex & sfoRe gar g ? 5

How can a galvanometer be converied into an ammeter ? Draw labelled diagram and establish an
expression for shunt resistance in terms of the resistance of the coil of galvanometer and current, If
resistance of the coil of galvanometer is 60 £ and it has to be converted into an ammeter using a -
shunt of resistance 3 m, then calculate the resistance of the converted ammeter.

429 (IAZ) [ 5] [ PT.O.
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30.

Wd @ FHG ST 9 Y 941 §hEd & ¢ ide gfte 3 a1 3R sf S19 % S g R
@1 foreor oW g1 wwsIS | 5

What do you mean by power of accommodation of eye ? Describe the cause and correction of
Myopia and Hypermetropia with ray diagram.

37eraT (OR)

T Wgan qersdl | AMgead aul AEE & 46 a6 gl 12 ¥ 8| afigeEs 3 wrew ol
0.6 T T2 JEeT @ B 9 5 W 7| ofy e gfefiw, e @ i eiw 25 W w e
BT B Tl S it — 2%4+2% =5
(@) a%g o RS Rafdy (@) Jerasil @ snaels e

The distance between the objective and the eyepiece in a compound microscope is 12 em. Focal
length of objective is 0.6 cm and focal length of eyepiece is 5 cm. If clear image is to be obtained at
25 cm to the left of the eyepicce, find out —

(a) the initial position of the object (b) the magnifying power of the microscope
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What is internal resistance of the cell and on which factors does it depend ? Prove that when the

internal resistance of the cells is much larger than the external resistance, then joining cells in parallel
is useful.
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In the figure, combination of four resistances 6 £2, 8 Q. 6 Q and 5 Q has been shown.
Calculate —

(a) Equivalent resistance between P and Q

(b) Potential difference between P and Q

(c) Current flowing in each resistance
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